Questions on Grade 12 Entrance Exam :

12 EFZNFFRNAE A

1.Let A and B be two given independent events such that P(A)

=p and P(B) = q and P(exactly one of A, B) = 2/3, then value of
3p +3q - 6pqis
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(d) -4

2.Three balls are drawn from a bag containing 2 red and 5
black balls, if the random variable X represents the number
of red balls drawn, then X can take values
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(a)0,1,2
(b)U, 1,2, 3
(c) O

(d) 1,2

3. Area bounded by the curve y = sin x and the x-axis

between x = 0 and x = 271 is
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(a) 2 sq units
(b) 0 sq units
(c) 3 sq units
(d) 4 sq units

4.1f [ sec?(7 - 4x)dx=atan (7 - 4x) + C, then value of a
is
Kafh

(a) 7

(b) -4
(c) 3

(d) —1/4

S.Area of the region bounded by the curve x = 2y + 3, the

y-axis and betweeny =-1andy =1 is
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(a) 4 sq units 3
(b) 3/2 sqg units
(c) 6 sg units
(d) 8 sq units



6. A line makes angle a, [}, y with x-axis, y-axis and z-axis
respectively then cos 2a + cos 23 + cos 2y is equal to
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(a) 2
(b) 1
(c) -2
(d) -1

7.The distance of point (2, 5, 7) from the x-axis is
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(a) 2

(b) V74

(c) V29

(d) /53
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The right triangle ABC shown below is inscribed inside a parabola. Point B is also

the maximum point of the parabola (vertex) and point C is the x intercept of the

parabola. If the equation of the parabola is given by y = X2 + 4x + C, find C so that

the area of the triangle ABC is equal to 32 square units.
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9. A parabola has two x intercepts at (-2 , 0) and (3, 0) and
passes through the point (5, 10). Find the equation of this
parabola.
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Find the equation of the tangent at ( 0, 2) to the circle with equation

x+272+(y+172=13
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h=-b/2a=2:xcoordinate of the vertex of the parabola

k = —(2)2 +4(2) + C=4 + C : y coordinate of vertex

Xx=(2+V4 +C)),x=(2-(4 + C)) : the two x intercepts of the parabola.
lengthof BA=k=4+C

length of AC=2+(4 +C)-2=~(4 +C)

area = (1/2)BA*AC = (1/2) (4 + C) * (4 + C)

(1/2) (4 + C) * V(4 + C) = 32 : area is equal to 32

C =12 : solve above for C.

y =a(x + 2)(x - 3) : equation of the parabola in factored form
10=a(®d +2)(5-2):(5, 10) is a point on the graph of the parabola and therefore
satisfies the equation of the parabola.

a = 9/7: solve the above equation for a.
Divide x(3 + 3x2 -2Ax + 3) by (x2 + 1) to obtain a remainder = -x(1 + 2A)
-X(1 + 2A) = 5x : remainder given

-(1 + 2A) = 5 : polynomials are equal if they corresponding coefficient area equal.

10. A=-3



